TRIGONOMETRY

Trigonometric Ratios of standard angles

0 0° 30° 45° 60° 90°
sin 1 1 V3 1
2 V2 2

cos 1 V3 1 1 0
2 V2 2

tan 0 1
— 1 V3 00
V3

Identities

sin?0+cos?20=1
sec?0=1+ tan®9
cosec’ =1+ cot?0

Compound Angle Formulae

sin(A + B) = sinAcos B + cos AsinB
sin(A—B) = sinAcosB - cos AsinB
cos (A + B) = cosAcosB— sinAsinB
cos (A- B) = cos Acos B+ sinAsinB

Multiple Angle Formulae

sin24 = 2sinAcos A = ——ot_ sin3A4 = 3sin A — 4 sin®A
1+ tan<A

cos 24 = cos?A — sin?A cos3A =4 cos3A—3cosA
=2c0s?A—1 => 2cos?A =1+ cos2A
=1 — 2sin?4A => 2sin?A=1-cos24

1— tan?A

1+ tan?A

_ 2tanA

tan 24 = F——y)

Transformation Formulae

2sin A cos B = sin(A + B) + sin(A — B) sinC + sinD = 2sin (%) cos (%)
2cosAsinB =sin(4 + B) — sin(A — B) sinC —sinD =2 cos (%) sin (%)
2cosAcosB = cos(A+ B) + cos(A — B) cosC + cosD =2 cos (%) cos (%)
2sinAsinB = cos(A — B) — cos(A + B) cosC —cosD =—2 sin(%) sin (%)
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INTEGRALS
(Add constant of integration)
n+1
1. [x™dx =’;+1 9. [tanx dx = log (sec x)
2. fxiz dx = —% 10. [ cotxdx = log (sinx)
3. f\/%dx = 2vx 11. [ sec’x dx = tanx
4. fi dx = logx 12. [ cosec ?x dx = — cotx
5. [eXdx=e* 13. [ secx tanx dx = secx
X
6. [a¥dx = l:ga 14. [ cosec x cotx dx = —cosec x
. _ 1 R
7. [sindx = —cosx 15. [ = dx = sin™'x
8. [cosxdx =sinx 16.[ ——dx = tan~lx
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